
• 
IO 1. How many electrons are there in one coulomb charge? 

(A) 1.6 x10-19 electrons 

\,l(PJ) 6.25x1018 electrons 

(C) 6.25x10-18 electrons 

(D) 1.6x1019 electrons 

(A) 1.6 x10-19 6T61l.$L.-rrrr~B;GTT 

(B) 6.25x1018 GT61)8;L.-rrrrmB;6TT 

(C) 6.25x10-18 ~61l8;L.-rrrrmB;6TT 

(D) 1.6 x1019 t0rQJ.$L.-rrrr~B;6TT 

. 
102. A bullet of mass 15 g is horizontally fired with velocity 100 ms-1 from a pistol of mass 2 kg. 

...... ...... 

Total momentum of the pistol and bullet before firing is equal to 

~ zero 

(B) 201.5 kg ms-1 

(C) 215 kg ms-1 

(D) 200 kg ms-1 

' 
15 .$lrrrrlb .ffilrn!!Jll.1GTT61T @Uurr8;.$1 ®~© 100 t.D6l51-1 ~61..18;~~@) 8i1~LLDLLLDIT8; 8iLUu(Bl$l!!J@· 

~uurr.$.$luSlm .ffilrn!D 2 .$!.$! t0r~6U Bi(Bl61..1~rD® CIJl~ ~uurr.$.$1 Ln!DIDJLb ®~® ~.$1UJ61..1rDo51~ GLDrr~~ ~[t~Lb 

iormm? 

(A) 

(B) 

(C) 

(D) 

BiWJ 

201.5 .$).$) u)Q)l-l 

215 .$).$) u)Q)l-l 

200 .$).$) t.56!)1-l 
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103. What is the chemical name of DDT? 

\jl>tf' Dichloro diphenyl trichloro ethane 

(B) Dichloro diphenyl tribromo ethane 

(C) Diphenyl dichloro trichloro ethane 

(D) Diphenyl dibromo trichloro ethane 

-
DDT-uS16bi' G6l..l~u_Qutuir 6Himiim'? 

(A) 6llL@iGrorrGIJ'rr mLi5miim'ru ~1o""WllJ'®C"1't"rrGl)'rr Fl'~G$1i6bi' 

104. What are Microsporum, Epidermophyton? 

(A) Disease causing bacteria in man 

~ Disease causing fungi in man 

(C) Disease causing virus in man 

(D) Disease causing protozoans in man 

(B) U}dl~~ru GJr>mLi ~!Du@~~tb ~c§Q')e:e;Qr 

(C) w6UTl~6UTIGi> GJDrni..J ~!Du©~~tb Q16Ul)'6it>8iQr 
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• 
105. Ovulation is stimulated by 

~ LH 

(B) LTH 

(C) Renin 

(D) Adrenalin 

(A) LH 

(B) LTH 

(C) G,,.allion 

106. Which gymnospermic plant cures rheumatism? 

(A) Araucaria 

(B) Ephedra 

~ Gnetum 

(D) Pinus 

(B) 6Tt.51l....1Trr 

(C) ~LLtO 

(D) ~u6lll~ 
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• 
107. A special root-like structure in cuscuta and viscum is called 

(A) Rhizoids 

~ Haustoria 

(C) Hyphae 

(D) Stolens 

$liiiu8;1!d,LLrT, @Sl6iu$Lb aurr6irr!J) ~rT6l..Jl)"r6J$61fl6i.l $rTGm"UU@t.b 6'!J)U UrT6l!T a6\..l rT$ID @Qi6l..JrTW 

~ 6'6l i,p8;a;u u@.$16irr!J)6l!T. 

(A) a6l.J fil$"1r 

(B) ~rrGiuaLrrITlUJrr.$.sm 

(C) bll~uurr.$8;Gir 

(D) 6iuCLrrru6irr 

108. Which of the following is observed as "National Girl Child Day"? 

(A) 8th January 

(B) 21st January 

(C) 22nd January 

~ 24th January 

2-.rua; Gu~ @)!,P~Gb'>~$ITT ~6l!Tt.b ~uCurr~ ~~a:fil8;.suu @.$lw~? 

(A) ~6l!TQJ ITl 8 

(B) ~Gm"QJITl 21 

. (C) ~6l!TQJITl 22 

(D) ~6l!T6l..lfil 24 
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109. Which of the following was discovered by ONGC in the Indian Ocean on 26th July_ 2016? 

\)Jt(" Hydrated Methane 

(B) Hydrated Benzene 

(C) Hydrated Ether 

(D) Hydrated Octane 

~tOdbTQ~niJ LDtiJIDJt.O @wrj)~.s QHT\Lj JhlIDJ6tl6mt.i:i £~.s~LGl.JrDIDJW ~)1:$8; c$~LD~~l1-i @,[ii~wu Gu@ri.l.su;iS1ru 

~-f>Q>ru 26/2016-ru s;~@t.S1~~:$~? 

(A) P,arrwwt.0 GutiJ!D t.O~G:$m 
.• 

(B) p,arrw!Dt.O Gu!i>!D GumH~ 

(C) ,©Grr!D!Dt.i:i QutiJ!D FF:$ir.sGir 

(D) ,rnarr!iJ!Dt.i:i Gu.ID!!> ~a;aL~ 

110. Which Bill was passed in the Parliament of India in 2016 to adopt Uniform Tax of States? 

+­
+-

(A) Goods and Sales Tax 

~ Goods and Service Tax 

(C) Direct Tax 

(D) Indirect Tax 

~.IT>l1-i LDaa:rr~rr @.ffi~w urr!J"rr(_§LDm!D~~ru 2016ru .[>rr@ QP@6tl~L.b ~arr QJ~ 6lSl~uLl8;.srr.s 

)bl 6"5)!Da6tl !D !DU u LL~? 

(A) Qurr@L...sw LDdJIDJL.b 615ltiJu6"5)6m QJ~ 

(B) 8'!J"8'@) LDWil)ILD aa:Q)QJ QJ~ 

(C) G.[>irQP.s 6UITl 

(D) LD6"5)!DQP<!S 6UITl 

• 
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111. Which State Governor was appointed ' as Tamilnadu Governor additional-charge rn 

September, 2016? 

(A) Kerala 

(B) Karnataka 

~ Maharashtra 

(D) Madhya Pradesh 

6T~fli LOrrJ@ru~~~ ~~JDn- tsuSlwJOrrffil LOrrJ@Q)~~m Bii.ffilf!>6U Gurr!')Ju4 ~~JD~ITc!E Qa:uLLbu r'r 2oi6.-6U 

Ufb61Sl GiJW JDITIT? 

112. Which Musician was honoured· in August 2016, .by United Nations Organization for her 

contribution to music? 

. \)t()' M.S. Subbulakshmi 

.(B) Asha Bhosle · 

(C) Lata Mangeshkar 

(D) M.S. Rajalakshini 

(A) M.S . ..nu4Q)l..a;u5l 

(B) ~~rr aurrGit>Cru 

(C) rutzirr wrf.JCc!E~.srr 

(D) M.S. @~rr~rol..8iu5l 
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113. Identify the 2016 Dhronacharya Awardee 

\j,k(' Bishweshwar Nandi 

(B) Lalitha Bahar 

(C) Rani Rampal · 

(D) P.V. Sindhu 

(B) Q)'6l~rr urruir 

(C) .@IJ"rr~ IJ"ITLDUrrru 

114. The Asian Junior Chess Championships, May 2016 was held at 

+­+-

(A) Chennai 

(B) Mumbai 

(C) Kolkatta 

\)li'r" New Delhi 

(C) Qe.;rr6i>~LLrr 
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115. Which country's Badminton player was defeated by P.V. Sindhu in the semi-finals at the 

Rio 2016 Olympic game's? 

(A) Spain 

(B) America 

(C) Africa 

~ Japan 

• 

2016 rllGUJrr ~61.5h.i:nS18; C:urrL_iq.~ru. ~Gnfl~JD!~U C:urn:...iq.~m Gurr@ P.V. filJi;~ GTJBfh JbrTL@ · 

urrL_t.6laiarLm ~17rrri.Js;Gn6fiTGnUJ~ C:fhrr!Ds;iq.~~rrrr? 

(A) wGu~m 

(B) ~GLDITlB;a;rr 

(C) ~ut.SlfilMrr 

(D) ~uurrm-

116. In July 2016, Theresa May was appointed as the ------Woman Prime Minister of 

UK (Britain). 

(A) first 

Vf1)' second 

(C) tenth 

(D) sixth 

~-f)~Q) 2016-ru G fhflGilU rr GL.OuJ GrmU6\JrT t.SlfflLLWJGnLUJ Gu~ t5l 17 fhl.OflrT ,g; 

,lblUJ t.6l8i,g;L.J uLLrrrr. 

(A) Q:Pfhru 

(B) @flaiGTLrTLO 

(C) u~~rr6\J~ 

(D) ~p:lff6U§f 
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117. The Third A:sian Ministerial Conforence on Tiger Conservation 2016 was held 

(A) From April 9th to 12th 2016 at Orissa 

(B) From April 14th to 17th 2016 at Calcutta 

~ From April I Ith to 14th 2016 at New-Delhi 

(D) From April 6th to 9th 2016 at Mumbai 

2016-ru yQ)lu urr~B;rruy~ ~LLLD ®JDl~~ @~IJ)fT6U@ ~6-lUJ <:91QJLD.9:a=IJ"Gn6l..I ~1..1 . .:...L..L.b ~rrr.1GB; ~uGurr@ 

.ffiGnLGu,d>w~? 

(A) 2016 ~ifla:rr6'6lru. bJUIJ"GO 9 QP~W 12 QPlq.UJ 

(B) 2016 Qs;m;bB;~f1irr6'6lro. bJUIJ""1> 14 QPfbfill 17 <Y>lltlLI 

(C) 2016 y~~roQ)lt61w. GJuvru 11 &~ru 14 QfllltlU 

(D) 2016 (!PL.bGnuuSlw. GJUIJ"ru 6 @fb6U 9 Qfltq.UJ 

118. Indian Constitution Drafting Committee's Chairman 

(A) Dr. Rajendra Prasad 

(B) Jawaharlal Nehru 

~ Dr. B.R. Ambedkar 

(D) Gandhi 

.@,di~ UJ <:91 IJ" §.lUJ Q)Ql LD Uy 6l.JQJ 1)61.jffi ®@@Sl~ ~Qi Q) 6l.J rT 

(A) Lrrc$Lrr. @IJ"rrGmfe~IJ" t.Sll)"a:rr~ 

(B) ~ru~iTrurrro G.ffi® 

(D) .g;rrfi>~ 
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119. Which year the Constitution of Inilia (61st Amendment Act) lowered the voting age from 

21 years to 18 years? 

Vtltf' 1988 

(B) 1987 

(C) 1986 

(D) 1985 

~Jb~ 6l.l@LLii @JbftllLI ~IJiflllJ6'> ~6B>l0Ulj 6LLLD (616l.I~ ~®~~8: 6LLLii) ULq. GUrr8;®ifl6"0"!LD 6\JllJ~ 

21 6l.JUJ~'°1®!b~ 18 ~6.i ®6"0"!!D.$.suul...L§J? 

(A) 1988 

(B) 1987 

(C) 1986 

(D) 1985 

120. Article 63 of the Indian Constitution refers to 

~ Vice-President 

(B) President 

(C) Prime Minister 

(D) Governor 

@)ii~UJ ~1JifltLJro ~6"0"lwui.51~ 61J~§I 63 ®iDlui.51@6l.l§J 

(A) ~6"0)(m ®t.q.lLIIJ8T~ ~~ro6l.liT 

(B) @it.q.UJIJBT ~6"0"lroGUiT 

(C) i.511J~lD Lii,(t~ITl 

(D) ~~p;n-
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121. Who is the chairperson of Niti Aayog? 

(A) President 

~ Prime Minister 

(C) Vice-President 

(D) . Supreme Court Judge 

(A) 

(B) 

(C) 

(D) 

122. The writ of Habeas Corpus is . 

+­
+-

\jtK{' To safeguard people from illegal arrest 

(B) The _Petitioner who requires legal help to get his work done by respective Public 

Authorities 

(C) It probability a subordinate court from acting beyond its jurisdiction 

(D) It prevents usurpation of a public office 

(A) a:L...L~~!D® ywt.Ourre; Q)e;,§J Ga:wru~rol®Jii.§J LD.$.sQ)m urr~.srr~~ru 

(B) GiSl~~uu~rrlJrTaice!i.$@> B'LL 2...~GiSl c!)lro-l~~ Qurr.§J Qa:rr~QJ~ urr~.srr~~ru 

· (C) .§JGD~ ~~ LD~!Dri.J.sm ruirt.Oy Jl!fil Ga:1Uruu@ru61>~ :2i6DL Ga:w~ru· 

(D) Gurr.§J ~wruQ)e;ri.JB>Q)w ~8;.$liruSluy Ge:wru~~ ~Q)L Ge=w~ru 
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123. Match the following : 

(a) To eradicate the inequality in the society 1. Beliefs passed through the generation 

(b) Women depend on male companions 

(c) To stop the customs of child marriage 

(d) Cancer institute at Adyar 

(a) (b) (c) (d) 

\J)tf' 3 1 · 4 2 

(B) 2 3 1 4 

(C) 1 4 2 3 

(D) 4 2 3 1 

(d) ~Q'lLlUrTtJ)l L.J!iJWJ<;,!f>lfuJ LD(l!)~~QILDOO~ 

Qs;rr61R!r(1l ru ,!i;:[>rrr'r 

(a) 

(A) 3 

(B) 2 . 

(C) 1 

(D) 4 

GRFT3 

(b) 

1 

3 

4 

2 

(c) 

4 

1 

2 

3 

(d) 

2 

4 

3 

1 

38 

2. It proclaims the fame of 

Dr. Muthu Lakshmi 

3. Social justice 

4. Prohibition 

4. ~L 6L.Lt.h 
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• 
124. Which is known as the "Murmering Auditorium"? 

(A) Golkonda 

~ Golkumbas 

(C) Gulberga 

(D) Jumma Masjid 

(B) G.srrGi>(§tburrw 

(C) ®rour'rs;rr 

(D) ~-9tbtorr tn@'.1%l 

125. Which Mughal King killed the Sikh Guru Tegh Bahadur? 

+­+-

(A) Akbar 

\)Jiff" Aurangazeb 

(C) Shahjahan 

(D) Jahangir 

(A) ~diur'r 

(B) 9!6TTIJrfua;6u 

(C) ~rrtr6a;rrQ-r 

(D) ~~rrrfuSir'r 
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126. · The Pallava inscription at------ refers to a great musician Rudracharya. 

~ Kudumiyan Malai 

(B) Mamandur 

(C) Uthiramerur 

(D) Mahendravadi 

ya;~Gu!iJw @roe:.$ e;~6Ut§r'r ~®i2ifh111rrs:rrrflUJrrr'r uwrDJ ururu6l..Ji're;ro~ 

®rDl u LS1@.$16'4r!D~. 

(A) ®@uSlUJrr6'41' tn~ru 

(B) LD rr LD61i«rr@fr 

(C) ~#111atn®r'r 

(D) toaa;,ffi~IJ"GUITl.q-

127. During the age of Kalabhras, a Jain monk who established Dravida Sangha at Madurai 

was 

~ Vajranandhi ' 
(B) Parsava Munivar 

(C) Mahavir 

(D) Maha Kasabar 

( C) LD6.ifTGTI 11fr 

(D) LD6.iIT e;e:ur'r 
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• 
128. The leading producers of jute in the world is 

\)It( India and Bangladesh 

(B) Srilanka and Pakistan 

(C) China and Japan 

(D) Singapore and Malaysia 

129. Asteroids are found between 

~ Mars and Jupiter 

..... ..... 

(B) Earth and Mars 

(C) Jupiter and Saturn 

(D) Mercury and Venus 

(A) Qe.Q.JQ.Jrrw6.i®Li::i 6iS11LJrr~WJ6.i®Li::i 

(B) ld.L.616.i®t.0 Q5<0i.JQ.Jrrti..J8i®Li::i 

(C) @S11LJrrWWJffi®lii e.~ffi®U:i 

(D) L.J!DWJ6.i®Lb QQJ annl<i@)i.b 

41 
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Gurr@~§J,g:;: 

(a) ,g:;G!iarL_ 6\) IT 1. l!),g:; rr l)'"rr~ tcrQ"Lb 

(b) ~6lJ~rr6Urrru ~Pl® 2. {§~l)'"IT~ 

(c) LJITl)'"~U 3. ~l!)lD(§ 6lJri.J,g:;rr6fTLb 

(d) ~rrru~tUrr 4. ~rfl.g:rr 

(a) (b) (c) (d) 

(A) 3 2 4 1 

(B) 4 1 3 2 

(C) 2 3 1 4 

(D) 2 1 4 3 
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131. 

--

Match : 

(a) Sathya Sodhak Samaj 

(b) Jeeva Karunyam 

(c) Dharma Paribalanam 

(d) Jeeva is Siva 

(a) 

\j)t( 2 

(B) 2 

(C) 4 

(D) 1 

Qurr®~~s;: · 

(b) 

1 

4 

1 

3 

(c) 

4 

3 

2 · 

2 

(a) s:~UJ Cs:rr~.$ s:LDrrmt.b 

(b) ~Q.J c$IT(!9Q/GrUJ t.b 

(c) ~rrLD uiflurrQ>~t.b 

(d) ffiQ.J JTCQ.J §1 Q.J rr 

(a) 

(A) 2 

(B) 2 

(C) 4 

(D) 1 

(b) 

1 

4 

1 

3 

(c) 

4 

3 

2 

2 

1. 

2. 

3. 

4. 

(d) 

3 

1 

3 

4 

1. 

2. 

3. 

4. 

(d) 

3 

· 1 

3 

4 

Ramalinga Adigal 

Jyotiba Phule 

Swami Vivekanandha 

Sri Narayana Guru 

.@rJrrLDrol t6J a; c:!91 lt\-SiGTT · 

Cmrr~urr !::J,C@ 

c$Q.l rruSl 6lS) aQ.J s;rrEl!T.ffi!brr 

~ ,ffiITJTITUJQm @)@ 
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132. Which year has a speci~l significance in Indian Economy as far as Economic ·Reforms are 

concerned? 

(A) 1952 

(B) 1981 

~ 1991 

(D) 2001 

~,(b~llJ - Gurr®mrr~rrir~Q)~ Qurrw~:2i6l.J~f/u5l6i.> GT)D$f> ~~@ Gurr®IDrT$f>ITI/ 6rr~®fh$f>~~!D® 

QPc'ii.$1 llJ ~~ 6U LO 6U rrii..J ~ $f> ~6BJ_ro IT@j LO ? 

(A) 1952 

(B) 1981 

(C) 1991 

(D) 2001 

-133. Where is t~e diamond cutting industry located in India? 

(A) Lucknow 

~ Surat 

(C) Ludiyana 

(D) Chandigar 

(A) a>.$~mrr 

(C) ~~UJIT6'0TIT 

(D) ~iq..~rrrr 
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• 
134. Net National Product is 

(A) Gross Domestic Product - Depreciation 

~ Gross National Product-Depreciation 

(C) Net National Product- Depreciation 

(D) Net Domestic Product - Depreciation 

~$1) IJ>rrL.'....@ ~!Dup;~ GT~U~ 

(A) GLDCT~fli ~QrI!)rTL@ ~!Du~~ - afliuJLDrTGbTLD 

(B) QLDrr~~ ,!DITL@ ~!f>u~~ - afliuJLDrTGbTLD 

(C) .@e;ll JDITL@ ~!f>u~~ - a~uJLDrTEialLD 

(D) .@e;fl ~ffiJDrTL@ ~!f>u~~ - ~!fitULDrTGbTLD. 

135. When a person lives below the minimum subsistence level he is said to live in 

~ Absolute poverty 

(B) Relative poverty 

(C) Abstract poverty 

(D) True poverty 

QJfT~QJ!li!D® G6t.16linlt.q.UJ ®~!DJ:t~uL._a: 6\..la:~e;~a;c~Bi £a~ ~(!56\..lfr 6\..lrr@Ll> 6\..lgJJ~LD ~~"'~UJ @6i..J6t.lrrgu 

~f!Jairrlb 

(A) @@"6\LDUJIT6al 6llg)IQ)LD 

(B) ~uoL._@ 6llIDJ~LD 

(C) 8i(!5$e; 6\J!J)IQ}LD 

(D) ~OOQJLD 6Ugll~l[) 
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136. (-1~)+(-3%)+(6~) is 

(A) 

(B) 

~ 

(D) 

(A) 

(B) 

(C) 

(D) 

3 
-
7 

5 
7 

11 
7 

19 
7 

3 
7 

5 
7 

11 
7 

19 

7 

137. The population of a city in the year 2014 is 1,80,000 and increases at a rate of 20% per year. 
Find the population of th~ city in the year 2016? 

(A) 2,40,000 

~ 2,59,200 

(C) 2,55,000 

(D) 2,54,300 

5l® !fJlf>ll~~birr lDBilf>m Q~rrQ)lf> 2014-Q, 1,80.000. ~@ ~ruQQJrr@ ~6ii5r@tb 20% Gu@@ilDrrarrrQ) 

2016-~tb ~6ii5r@ LDffia;ro Gp;rrQ)s:; ~6irr61ST? 

(A) 2,40,000 

(B) 2,59,200 

(C) 2,55,000 

(D) 2,54,300 
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138. 3 - 25 here, which of the following number is suitable in -, so that the number will b.e a 

perfect square? 

(A) 1 

(C) · 4 

(A) 1 

(C) 4 

~o 
(D) 6 

(B) O 

(D) 6 

139. The average mark of 10 children is 80 then their total mark is 

(A) 200 

~800 

(A) . 200 

(C) 800 

(B) 300 

(D) 400 

(B) 300 · 

(D) 400 

140. A man and woman are engaged in a work. A man can do a piece ~f work in 4 days and the 

woman can do in 12 days. Find how many days will they take to finish it together? 

(A) 6 days 

(C) 4 days 

(B) 5 days 

~3days 

9 ® ~~ lD!iJI!)ltb 9® Gu~ @®6l..l®tb as:rr.ffi~ 9® aQJ"6)Q)Q)UJ Gs:u:..i.il!DrrirB;~ . ~Qfor 9® aaiQ)Q)"6)lLJ 

4 J!irrL.B;Qflru G6u:..i~ Qf>lll-Liurrfr. 9® Gu~ ~a~ aQJQ)6\)~UJ 12 J!irrL.B;61flru G6u:..i~ QPlll-Liurrrr. 

~QiaQJ~~Q)lLJ @®ru®tb as:ir)ii~ 6T~~Q)6UT J!irTLB;61flQ) QPlll-UUITfrB;~? 

(A) 6 J!irTLB;~ 

( C) 4 J!i rrL.B;m 

. 47 

(B) 5 J!irTLB;m 

(D) 3 J!irTLB;m 
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141. Which of the following set of measurements will form a right angle triangle? 

142. 

(A) 6,9, 12 

(B) 5, 8, 10 

~ 5, 5, 5,,/2 

(D) 3, '1, 4,,/2 

(A) 6, 9, 12 

(B) 5, 8, 10 

(C) 5, 5, 5,,/2 

(D) 3, 4, 4',,f2 

The value of ~609 + ~248 + ~60 + J1 + ,J8l 

(A) 20 

~ 25 

(C) 16 

(D) 9 

~609 + ~248 + ~60 + J1 + ,J8i ~ LDfi,lULJ 

(A) 20 

(B) 25 

(C) 16 

(D) 9 

GRFT3 
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• 
143. The price of a house is decreased from rupees fifteen lakhs to rupees twelve lakhs. The 

percenta~e of decrease is 

(A) 10% 

VB(' 20% 

(C) 30% 

(D) 40% 

~<5 GU'L...'l\-m Gfil~ru 15 .@ruL...lfL.b e!!)urru5161Sl®Ji;~ 12 ~ruL.lfL.b e!!)Urr11Jrra:;ci; @i6"0'>!!J.ffi~~ 6T~ru @i~!D)i;{b 

Hf!>6!3 {!}Lb 

(A) 10% 

(B) 20% 

(C) 30% 

(D) 40% 

144. If 3(t - 3) = 5(2t+ 1) then t = ? 

\,)/{) - 2 

(B) 2 . 

(C) . - 3 

(D) 3 

3(t - 3) = 5(2t+I) 6T~ru t =? 

(A) - 2 

(B) 2 

(C) - 3 

(D) 3 
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145. Th
, l . f l.75xl.75+2xl.75x0.75+0.75 x 0.75 
e va ue o 

l. 75x1. 75 - 0. 75 x 0. 75 

(A) 3.5 

(B) 6.25 

(C) 1 

· ~ 2.5 

1.75xl.75+2xl.75x0.75+0.75x0.75 . J'.l . 
,.. ~U>~,u4 

1. 75x1. 75-0.75 x 0.15 

(A) 3.5 

(B) 6.25 

(C) 1 

(D) 2.5 

146. The valu~ of 163 + 73 
- 233 is 

~ -7728 

(B) - 7028 

(C) 7728 

(D) - 7718 

(A) -7728 

(B) 7028 

(C) 7728 

(D) -7718 
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147. Find the next term of 4 in the series is l, l, 2, 8, 3, 27, 4, ... 

(A) 31 

(C) 16 

(B) 29 

~64 

1, 1, 2, 8, 3, 27, 4, ... 6Tm£D Q~rrLfil6iir 4-!D® ~©~~ :2...IDJULJ? 

(A) 31 

(C) 16 

(B) 29 

(D) 64 

148. Three angles of a triangle are x- 30°, x- 45°, x + 15°, find the value of x. 

(A) 60° 

\.}f!J 80° 

(A) 60° 

(C) 80° 

(B) 40° 

(D) 100° 

(B) 40° 

(D) 100° 

149. . The difference between simple interest and compound interest for a sum of Rs. 12,000 lent 

at 10% per annum in 2 years, is 

(A) Rs. 80 

\j/l1(' Rs. 120 

®· 12,000-8;® 10% 6l.J L.tq- G5~t.O 

~~ 6l.J L.tq-8>@it.O 2.JiTrW 6lS1~~ UJ rr ut.0 

(A) ®· 80 

(C) ® · 120 

--

6T~ro 

' 

(B) Rs. 90 

(D) Rs. 100 

~fl~© ~~©a>~ro 

(B) ®· 90 

(D) @.100 

51 

£!brlL8;@itD afi..L.@ 6l.J L.tq-8;® t.O 
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150. If you stand in a rectangular room, where two adjacent walls are covered with plane 

mirror s, the total number of your images will be 

(A ) infinity 

(B) 1 

~3 
(D) 0 

~® Q6ruQ.Ja; ~rn!!Ju5lru 6LD~w ~u:ra;w Gurr®~~uuL..L @1Jb!iirr@ -=91@~~©~~ a;ru r'ra;~B;® ~6UJL<!UJ f£ 

~Jb.$l!J)rruJ t0r6l!Tlru. ~6lrr~ QLDrr~~ t51ti;>uffiia;6lf)6il'f GTaiurQUf!S;ros; GT~~rnGT? 

(A) C:Pt.i:r~rol 

(B) 1 

(C) 3 

(D) O 

151. Audible range of rabbit is 

(A) 100 - 32,000 Hz 

(B) 1,000 - 1,50,000 Hz 

~ 1,000 - 1,00,000 Hz 

(D) 900 - 2,00,000 Hz 

(A) 100- 32,000 Hz 

(B) 1,000 - 1,50,000 Hz 

(C) 1,000 - 1,00,000 Hz 

(D) 900- 2,00,000 Hz 
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• 
152. - Why vegetables and fruits turn brown on ·c~tting? 

~ Due to the reaction between phenolic compound and oxygen in air 

(B) Due to the formation of inorganic compound 

(C) Due to the formation of salts 

(D) Due to the form'ation of bases 

153. Among the following which one is not a biofertilizer? 

+­
+-

(A) 

(B) 

~ 
(D) 

Anabaena 

Nostoc 

Lindane 

Rhizobium 

53 
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154. Consider the statements : 

(a) Sterility is caused by the deficiency of Vitamin K. 

(b) Night blindness is caused by the deficiency of Vitamin D. 

\)J(}' Both (a) and (b) are false 

(B) (a) is false and (b) is true 

(C) (a) is true and (b) is false 

(D) Both (a) and (b) are true 

(a) @muQu®8;a;8: GlacUJru ®~!Durr@ (wruL.@~ ~~w) ~6lJL.Lu516ITT K @)bW>!1)6lS'lmrrru 1;J,ti>u@£w~. 

(b) wrrmru.$a;mr aJf>rruJ bW>6UL..Lu5l6ITT D ®mw6l5lmrrru l;J"lDU@6ilw§J. 

(A) (a) wfbI9JLb (b) ~6U!Drr~~6U 

(B) (a) ~6UI9J LD !b!JlJLb (b) mfl 

(C) (a) acrfl lD~!J)JLb (b) ~6U!J)J 

(D) (a) w !b ID! Lb (b) acrll UJ rr mm 6lJ 

155. The va lve which regulates the blood flow from right ventricle to the pulmona:r;y_ artery 

\,)ti() Semi-lunar valve 

(Il) Auriculo-ventricular valve 

(C) Bi Cuspid valve 

(D) Tri Cuspid valve 

6UQ>§J G6l161faTL.Jflii;a;~Q$l®fe§l (@~UJ.9; £w~w) ©Jmf)LOl)ru ~lD~ffi®@IJ"~!flLD Q5Q)QJ~~ ~(!JlrGJ@)U@~§)LD 
6i.Jrrru61Sl~ (~~u~urr~) GluUJrr 

(A) i.51~wufe~IJ" 6Urr6i.>6l.j· 

(B) ~ifl8i®arurr G6U6ITTL.rfl<i;®Q>rrrr 6Urrru6l.j 

(C) r:FIT\~~ 6UrT6i.>6l.j 

(D) ~61Sl~~ 6Urrru6l.j 
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156. Match List I and List II : 

List I 

(a) Glycolysis 

(b) Kreb's cycle 

(c) Electron transport chain 

(d) Fermentation 

(a) 

(A) 3 

~ 4 

(C) . 1 

(D) 2 

(a) 

(A) 3 

(B) 4 

(C) 1 

(D) 2 

(b) 

4 

3 

3 . 

4 

(b) 

4 

3 · 

3 

4 

(c) 

2 

2 

4 

1 

(c) 

2 

2 

4 

1 

(d) 

1 

1 

2 

3 

(d) 

1 

1 

2 

3 

List II 

1. 02 is not utilised 

2. ATP are produced 

3. Oxidation of pyruvic acid 

4. Occurs in cytoplasm 

l. qi,.$001~~ UIU~U@~~UU@QJ~Qi~ru 

2. ATP-8ia;m R...@QJrr£JD~ 

3. ~u®Q)IB; ~t.6lru qi,8iOOl~G~!!J!DLb 

4. ~a:L...GLrrt.S1wrra:~:$)6':> p;~dJuroi~!D~ 
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157. Who among the Indian-born · Ameri"Can scientist bagged the prestigious award 

Lemelson-MIT prize worth 5,00,000 dollars? 

(A) Ajit Doval 

(B) Mohamed Nasheed 

~ Ramesh Raskar 

(D) Jagdish Tytler 

~GLOrfl8;a;rr@S)Q-r ffi6l..jl)'"61..Jt..6l8;e:; GlS1Q?%rrm G6l.JLD6\J~-bl"li:iffiut- (Lemelson-MIT) 5,00,000 Lrrruir urflB; 

Gu!iJw@~!Ell!J 61..Jli:ia:rr61..J~ ~QLDrflO;a; GlSl~(§rr~ 11Jrrrr? 

(A) ~~~ ~~rr6l.lru 

(B) QPB">LO![)J ,!!)~~ 

(C) !)'"CLO~ 1)"1~a;rr 

(D) ~8;~~ ~O>LLruir 

158. Who won the GD Birla Award for Scientific Research for the year 2016? 

(A) Sanjeev Galande 

(B) Raghavan Varadarajan 

(C) Sriram Ramasamy 

t..'91'" Sanjay Mittal 

(A) 8'~.%i.J ~ITT~!Jt-

(B) l)IT \$61..J rn 61..J I) %1J'" rr~ 6irr 

(C) ~l)ITtb l)ITLOB'iTuSl 

(D) e:~e:ii.i uSh.:...Lru 
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159. Who is the Chief Information Commissioner of India in September 2016? 

·(A) P .K Sinha 

(B) R.K. Narayanan 

\)Rr R.K. Mathoor 

(D) R.K. Kaul 

(A) &Ca;. 5lm~rr 

(B) ~rr.Cs;. JDrTfJrrtLI~m 

(C) ~IT.Ca;. LOIT~~r'r 

(D) ~ir.Ca;. Qs;mro . 

160. "Operation calm down" is associated with which state? 

+­
+-

(A) Tamilnadu 

(B) Andhra Pradesh 

~ Jammu Kashmir 

(D) . Bihar 

(A) fbuS'l~ !f>rT@ 

(B) ~~fJ tSlrJCtEB=L.0 

(C) ~L.OQP a;rr~t.Orr 

(D) t)a;rrrr 
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161. Name the Battery that shuts down on over heating and rest<:1-rts when the temperature 

becomes cool 

(A) Sodium ion 

~ Lithium ion 

(C) Carbon ion 

(D) Potassium ion 

GT}i>~ L.6l~a;GULb QQ.Juuili :1l ... J1JQ9tb Gurr~ @6r>~Ulj ~aibrt.q-dia;uuL...Q;t ®GTfiirJi>~ .IBJ~6UlB6U L.06Wr(b'Lh 

@UJri.Ja;~ G)2)rrLri.J®Lb? 

(A) ~a:rrt.q-UJLb ~lLl~ 

(B) b\Sl~~ l1J Lb ~ l1J ~ 

(C) · a;rrfru~ ~LU~ 

(D) GurrL...LrrJ111JLb ~UJ60fl 

162. Name the person who was appointed as the ambassador on behalf of India to work for the 

cause of gender equality and progress of women in UNO for the year 2016 

(A) Aishwarya Rai 

(B) Priyanka Chopra 

~ Aishwarya Dhanush 

(D) Sania Mirza 

2016 ~tb ~6Wrt.q-6U rnffi8ill1J )ljrT@.g;GTfl~ ~6r>LOUt5l6U, G u~.g;GTfl6ITT 8'l.O 2....lflbnLO LD!i>l])Jtb ~GtJir.g;GTfl~ 

QPmG;;arrbw~~!iJa;rra;, @~~11JrrGfil6ITT a:rrirurra; ,IB111JL.6ldia;uuL...L@)!!ifr 11Jrrfr? 

(A) t;B~GUirlLlrr ~gmi.J 

(B) t5lnl11Jri.J.g;rr Ga:rrugrr 

(C) ffi®GllfrlLlrr :2i®~ 

(D) 6rT ~ l1J rr L.61 fr "1tl rr 

GRFT3 '.58. 

f 

• 



• 
163. What is the name of Ganga river.cleaning scheme? 

\J)t?f' Namami Ganga scheme 

(B) Poorya Ganga scheme 

(C) Apoorva Ganga scheme 

(D) Ganga Yamuna scheme 

(A) IJ)L.OrTuSl 8ir&.J&rr ~LLill 

(B) \d,frQJ[T e;ri.Je;rr ~LLt..i:l 

(C) <:!91\:J,lTQJrT e;r&.Je;rr ~LLill 

(D) e;r&.le;rr lLIQP~Trr ~L..Lt.0 

164. The INSAT-3DR was launched through rocket for Metereological Research on 

8th September, 2016 by which rocket? 

+­+-

~ GSLV-F05 

(B) PSLV-4 

(C) Arianne 

(D) GSLV-3 

<OT~fb l)rrB;Qe;L.. e_y:J6Ut.0, 6'616lin'J'Qruffil ~IJ'rrti.Jc!f618;e;rrs; INSAT-3DR-~lLI. 8iL.ffi~ 8, Qm.'..JLt.Dut'r, 2016 <:!916'oTWJ 

6\Sl~QQJffi)8;05 ~WJUUUULL~? 

(A) GSLV-F05 

· (B) PSLV-4 

(D) GSLV-3 
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165. Who won the Rajiv Gandhi Khel Rathna Award for Badminton in the year 2016? 

(A) Sakshi Malik 

(B) Mary Korn 

(C) Pradeep Kumar 

~ P.V. Sindhu 

urrL..uSloou;ar bl51mwUJrrL..tq..d>.g;rrs; 2016 ~Lb ~ootq..m 11rrmru a;rr)!J~ ~.g;Q) l/~61!rrr bl51@m~ Gufb.o:>au'r? 
. . 

(A) srr.$~ wrr"511ii 

(B) Gwrfl Ga;rrl.b 

(C) t.Sll}"~u @)tnmr 

(D) t51.bl51 . ~Ji>~ 

166. Which year has been declared by UNO as the "International Year of Pulses"? 

(A) 2012 

(B) 2013 

V!!} 2016 

(D) 2015 

(A) 2012 

(B) 2013 

(C) 2016 

(D) 2015 
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• 
167. Match the following : 

Part-I 

(a) Raj Bhavan 

(b) Rastrapathy Bhavan 

(c) Impeachment 

(d) Lt. Governor 

(a) (b) (c) 

(A) 1 4 3 

(B) 2 3 4 

(C) 4 · 2 3 

~ 2 1 4 

Gurr@~~e;: 

U®~-1 

(a) fTIT~U6Um 

(b) fTIT~lq.fTU~ U6Um 

(c) @fTIT~~ {] fTIT c$ 6618'1TfT Ql 6lfOT 

(d) ~Ql61!MJ£16rlro ~~,!Dfr 

(a) (b) (c) 

(A) 1 4 3 

(B) 2 3 4 

(C) 4 2 3 

(D) 2 1 4 

1. 

2. 

3. 

4. 

(d) 

2 

1 

1 

3 

1. 

2. 

3. 

4. 

(d) 

2 

1 

1 

3 

61 

Part-II 

President 

Governor 

Union Territories 
. ··: 

Violation of the Constitution 

1,·, 

I ~·· 

U®~-II 

~mrr~u~ 

~~,!Dfr 

!f:!,~UJ~ t5l1T(]~5rf.Je;Gil 

~1}"51UJ@6rlLDULj LE!DQ:i 
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168. The election .process at the state level is supervised by 

(A) 

(B) 

~ 

(D) 

Chief Election Commissioner 

Supreme Court Judge 

Chief Electoral Officer 

High Court Judge 

LDrr.llilGU ~ffi@SlQ) G~i'r~Q) J!iGr>LQPGr>JD6G)lLI GLD(iJurrrr6G)6lJt61@u~J..Jrr 

(A) ~6G)GU~LD G~fr~Q) qj,Gr>6mlrlLIIT 

(B) :2...8:a:.ffi~LD60T!!J .ffi~u~ 

tC) ~~a>~LD G~fr~Q) ~~a;rrITl 

(D) :2...lLirr,ffi~LD60TJD .ffi~u~ 

169. Find out the correct statement. 

The Indian Constitution contains 

\j)t( XXII parts, 449 Articles and 12 Schedules 

(B) XXI parts, 438 Articles and 8 Schedules 

(C) XXIII parts, 469 Articles and 21 Schedules 

(D) XX parts, 428 Articles and 18 Schedules 

(A) XXII urra;ri.Ja;Gir, 449 B'l)~§Ja;Gir LDPJ!PJtb 12 ~LLQJ~6Wfa;6Tr 

(B) . XXI urra;rfila;ffi, 438 61JPJ@a;ffi LD.(i:>!l)Jtb 8 ~LL6lJQ>GlUJ"a;6Tr 

(C) xxrrr urra;ri.Ja;Gir, 469 61)~~8iGIT LD.(i:>.Q)!tb 21 ~LLQJGrl6m8;Gfr 

(D) XX urra;ri.Ja;ro, 428 a=IJ~~a;ffi LDPJ!PJtb 18 ~LL6lJQ>6Wfa;6Tr 
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170. Which of the following is incorrectly matched? 

(A) Assassination of Gandhiji January 30, 1948 

(B) Republic Day January 26, 1950 

(C) Independence day August 15, 1947 

\.)iI!'f(' Constituent Assembly adopted National Anthem - January 23, 1950 

;- ~~Qlill 30. 1948 

(B) ®tq-UJIJBT ~GGTLD . ~6n61.1ill 26, 1950 

(C) BT~PJ~IJ ~6t!TLD ~8.iG'iu@ 15, 194 7 

171. Which of the following is correctly matched? 

(A) The Pres~dent - Guardian of our Constitution 

\)Jf) The Chief Minister - Appointed by the Governor 

(C) Supreme Court - Unique Identification 

(D) National Anthem Bankim Chandra Chatterjee 

(A) ®tq-UJIJ8.i~ ~6'G'lru6l.Jfr ~fl 51UJ6\l6'G'll.OU 151~ UIT~6ifT6l.J6\)IT 

(B) QP~Q)~L.Od;gorr ~l§,[!)IJrT6\> )Eltut.618;.q;u u@£!Drrfr 

(C) 2...66.£~L.O~!D ili - §1 !!)U U IT6n ~ ~LUJ rHi11Tf.J8.iffi 

(D) a~lUAi~L.O u8:i$1ili 6PJ~IJ 6L.Lfrffi) 
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172. Consumer Courts are set up in ----- tier system. 

(A) Two 

~Three 

(C) Four 

(D) Five 

(A) 2 

(B) 3 

(C) 4 

(D) 5 

173. The Tanjore king who-helped Vijayanagar king in the battle of Thalaikottai was 

(A) Sevappa Nayak 

\,;Bf' Achutappa Nayak 

(C) Ragunatha Nayak 

(D) King Sarfoji 
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17 4. Which of these describes the conquest and 'lt'.ictories of Samudra Gupta? 

(A) 

~ 
(C) 

(D) 

Uthiramerur inscription · 

Allahabad Pillar inscription 

Ihola inscription 

Ashokas inscription 

a=@~~IJ@)U~rr UiillLGu.J@uL...j, Q6)J!D.(6leiiillGITu u!iJ.(61 6TfB~ s;bi.>G6l..IL@ @5lrf16)Jrre;B;®.o5h:.il51@.$lw~? 

(A) ~~~IJCID(!9rT a;Q.JQ6)Jl_@ 

(B) ~rua;rrurr~ ~~ a;Q)Q6)Jl_@ 

(C) - ~G~rrGQ) a;Q.JQQJL._@ 

175. Who was the last Sultan of Delhi Sulthanate? 

\jl() Ibrahim Lodi 

(B) Sikkandar Lodi 

(C) Ibrahim Ali 

(D) Dowlath Khan Lodi 

GLbi.>6151 a;Q.i~rr~tLI~~~ B>Q)L51 ~!Ja=fr u.Jrrfr? 

(A) .@UIJIT~U:i Grurrur 

-(B) 51B;a;,ID~fr Grurrur 

(C) .@u1w~Lb ~6151 

(D) Q~GITru~ a;rr~ Grurrur 
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176. Who bL1ilt the Nalanda university? 

~ Kumara Gupta 

(B) Shri Gupta 

(C) Chandra Gupta 

(D) Samudra Gupta 

. . 

(B) ~®u~rr· 

(C) uJfi~IJ' ®Lit!iir 

(D) 6(!PP,~lf ®LI!bir 

177. Ox-bow lakes are formed in the 

(A) Valley region 

(B) Mountain region 

~ Plain region 

(D) Delta region 

(A) U~W!b1T8J® U®~ 
I 

(B) l.06!JQ)LI U®~ 

(C) 6l.OQQJOOh.J U®~ 

(D) GLruLrru®~ 
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178. The shortest National Highway is 

(A) NH 48 

· (C) NH 45 A 

(B) NH 9 

~NH47A 

uSla;S;®~!DPJ!h JB61l(Yl~LlLI Cfh§llLI Q,ffi@~s:rr~Q.l 

179. 

+­
+-

(A) NH 48 

(t) NH 45 A • 

Match the following: 

(a) Grey revolution 

(b) Golden revolution 

(c) Yellow revolution 

(d) Blue revolution 

(a) (b) (c)' 

\)!(( 2 4 1 

(B) 4 2 3 

(C) 3 1 4 

(D) 2 1 4 

· 8l~~i.9ia;GiiMLQJ!i>~!D Gurr09~~<'li : 

(a) s:rrLbuQ.i y IJLfil 

(b) Qurrm yl}"L..§1 

(c) LD~S:W yo-L..fil 

(d) .£ru Li y o-L..fil 

(a) (b) (c) 

(A) 2 4 l 

(B) 4 2 3 

(C) 3 1 4 

(D) 2 l 4 

(B) NH 9 

(D) NH 47 A. 

1. Oil seeds 

2. Eggs and poultry 

3. Marine products 

4. Horticulture 

(d) 

3 

1 

2 

3 

1. 6f6iiMQ~nu a51~~8>tGw 

2. @L~L LDrOIDJLh Ca;rry51uu6iiM~~ 

3 . a;uu QurrQ!jLffiw 

4. LIWrSJ8iW IQ_!i>U~~ 

" 
(d) 

3 

1 

2 

3 
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• 
180. National motto "Satyameva Jayate" hence forth a.Ppears as "Vaimaye Vellum" in Tamil was 

announced by 

(A) Arabind Ghosh (B) Periyar 

(C) Kamaraj ~Annadurai 

'a:~lUGLD6tl G2731UG~' 61"6br!D ~rrc!Jf& ®i:fil.!i;~s;rr~ro ~uSl~Gb 6'UJTuJ6rlLDGlLI Q6'1.J6\>@tlt.i:i 61"m!PJ LDrr!Dp51lLI6tlfr 

(A) ~rr61Sl.ffi~ ~e;rr~ (B) Gurrhurrrr 

(C) BiITLDl)ITtffr 

181. Where was Dr. B.R. Ambedkar born? 

.\/!(} Mhow 

(C) Sarayu 

(A) LD<'liGl.4 

(C) a:rrll..l 

(B) Makkavu 

(D) Lucknow 

(B) LDc5e;rr6l.4 

182. How many years V.O.C. was sentenced to imprisonment? 

(A) 30 

\J,f)'Y' 40 

(A) 30 

(C) . 40 
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(D) 34 

(B) 
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35 

34 
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l 83. Who remarked "The light has gone out of our lives and there is darkness everywhere"? 

(A) Vallabai Patel · 

(B) Dr. Rajendra Prasad 

(C) Mount Batten 

~ J awaharlal Nehru 

(A) 6UG\>@UITuJ uGLGi.> 

(B) Dr. l)rrGm,!i>~ll tSll) a:rr~ 

(C) LD6l..fQfoTL Gu LLffi 

(D) e?6U~l'r@rrGi.> GJ!i® 

184. Who chaired the first session of the Indian National Congress held at Bombay? 

(A) · Madan Mohan Malavya 

~ W.C. Banerjee 

(C) Pherozeshah Mehta 

(D) Surendranath Banerjee 

(B) W.C. urrmrr~ 
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185. In India the organisation which was responsible for self-sufficiency in food production was 

(A) CSIR 

~ ICAR 

(C) ISRO 

(D) ICMR 

·@.ffi~UJrr ~~~ ~dJu~~u51ru ~Q7~6U>ID~ ~6U>L6l.J~lD® .srr!J~LDrrm .[El.Q)J6l.Jmi.b 

(A) @fe~UJ ~!616lSIUJru LDdJQJ!Li:i Q~rrWJru~L..u ~1Jrrli.J8:6l .[El!J)!6l.Jmi.b (CSIR) 

(B) @fe~UJ C6l.Jrorroo ~1Jrrli.J8:6l .[ElQJ16UmLi:i (ICAR) 

(C) @fe~UJ 6lSlfMrGGUml ~1Jrrli.J8:6l .[El!J)!ru65nb (ISRO) 

(D) @fe~UJ LDQ!j~§JGU ~1Jrrli.J8:6l .[Ell!)JGUQTLi:i (ICMR) 

· 186. As explained by Robert Malthus, Population increases in the 

·· (A) Proportionate ratio 

~ Geometric ratio 

(C) Arithmetic ratio 

(D) Smaller ratio 

L.D.$.sGir Q~rr6U>.s @Gi.J61Sl£l~~~ru ~~.sITl.$£\ID§J ~Ql!J)! 1Jrrurrl.. illrrru~Giu dft!&UJ~ 

(A) 6l51£l~rr8:8'rri, @Sl£\p;~~ru 

(B) Gu@Bia>ru 61Sl£l~~~ru 

(C) Bftl..@ 6l51£l~~~ru 

(D) 6lQJ! @S)£\~~~Q) 
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187. Which plan was implemented after the Annual Plans of 1966 - 69? 

(A) Second Five Year Plan 

(B) Fifth Five Year Plan 

(C) Third Five Year Plan 

\,/if!(" Fourth Five Year Plan 

(A) @IJ~Unb ~~rr~@ ~L...Ltb 

(B) re.ffi~rrtb ~~rr~@ ~L...Ltb 

(C) (!P~!!Jrrtb ~~rr~@ ~L...Ltb 

(1)) J!irr~s;rrtb re.ffi~rr~@ th)L...Ltb 

188. "Bachpan Bachao Andolan" is an organisation that fights against 

~ Child labour 

(B) Bondedlabour 

(C) Child marriage 

(D) Poverty 

(A) ®W.ffi~~ Q~rrWlQ>rr~ 

(B) Qs;rr~~Lq.~LD 

( C) u rr '151 lU GlS'l 61.irr s;tb 
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189. The base of a triangle is four times its height and its area is 50 m 2• The length of the base is 

(A) 10 m 

(B) 15 m 

'\i!i!!r 20 m 

(D) 25 m 

(A) 10 w 

(B) 15 ill 

.(C) 20 t..O 

(D) 25 w 

190. A can do a piece of work in 20 day~ and B can do it in 25 days. Both of them finished the 

work and earned Rs. 3,600. Then A's share is 

(A) · Rs. 1,600 

~ Rs.2,000 

(C) Rs. 3,000 

(D) Rs. 3, 100 

A ~® a6l..J6"0")Ei\)~\U 20 )!iffL6'ffil~Lb. B ~Qr)~ 25 )!iITLa;ffil~U:i Q.g:u'.J~ QPLtf.UUIT. @@ru®ili ae:r'r]fJ~ 

~rua6l..16"0"lruQflUJ6 Quu'...1§1 ®· 3,600-m r=rl...ui-6lfTrrru ~~Q~rr6"0"l6'u51m A-ar uri.J® 

(A) ®· 1.600 

(B) ®· 2,000 

(C) ®· 3,000 

(D) ®· 3.100 

• 
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191. (

'7 )-
4 

( 7 )
3

% ( 7 )
5 

If 
12 

x 
12 

= 
12 

; then the. value of x is 

(A) -1 

(B) 1 

(C) 2 

~ 3 

(A) -1 

(B) 1 

(C) 2 

(D) 3 

192. If 22 men can build a wall of 110 meters in 10 days. The length of a similar wall built by 

30 men in 6 days is 

+­
+-

(A) 100 mts 

~ .90mts 

· (C) 80 mts 

(D) 70 mts 

22 ~L._a;m 10 )!lrTLc!hmlro 110 i.5 .ffiro@m61T 8iQJQrir1 c!hLll:f- C!f>llj-~~rrro. 30 ~L...8;6ir 6 )!lrTLa;mlffi c!hLl!j­

eyiiq..$C§tb 81Ql~~ .ffi61Ttb 

(A) 

(B) 

(C) 

(D) 

100 t.5 

90 t.5 

80 i.f) 
J 1,) 

70 ill 
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193. If the ratio of length and breadth of a rectangle is 4: 7. Find the length while its breadth is 

77cm. 

(A) 22cm 

(B) 33cm 

Vfi!(' 44cm 

(D) 55 cm 

e;rrooa; 

(A) 22 Qa:.t5 

(B) 33 Qa:.t5 

(C) 44 Qa:.t5 

(D) 55 Qa:.i.O 

. . 
194. A room is 5 m 40 cm long and 4 m 50 cm broad. Its Area is 

(A) 23.4 m2 

~ 24.3 m2 

(C) 25 m2 

(D) 98.01 m2 

Uf]'UUffiQj 

(A) 23.4 L.52 

(B) 24.3 i.02 

(C) 25 L.52 

(D) 98.01 L52 
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195. Simplify 

s.!.+ 4~+ 1~+ 62-~11~ 
4 . 4 8 8 4 

·~98 
47 

98 (C) 
45 · 

8'(!9.$(§.$ 

1 3 5 7 3 
5-+ 4~ + 7-+ 6- -dl-

4 4 8 8 4 

(A) 
98 

47 

(C) 
98 
45 

(Il) 

(D) 

(Il) 

(D) 

108 

49 

96 

47 

108 -
49 

96 

47 

196. Find the rate of interest at which, a sum of money becomes ~ tim~s in 2 years. . 4 

(A) 691-% 
2 

(B) 67.!.% 
2 

~ 62.l.% 
2 

(D) 61.l.% 
2 

(A) 69.1% 
2 

(B) 67.1% 
2 

(C) - 62.l% 
2 

(D) 611.% 
2 
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197. The bre~dth, height and volume of a cuboid are 10 cm, 11 cm and 3080 cm3 respectively. 

Find the length of the cuboid. 

(A) 21 cm 

~ 28cm 

(C) 24cm 

(D) 30 cm 

~® .s6lll Qe:Gi.JGUa;fii~Girr ~a;rot.b. f2....lUIJLD: s;~~GTTQ.j @Q'lJDGlU 10 G6.t.5 .. 11 Qq.t.5. LDJDIDJl.O 3080 Qe:.t.53 

6T 6Dll ru <:!9lfli ar ffi 6TT {JJQ')~ a;6lilrrq6l a;. . 

(A) 2J Qe:.t.5 . . 

(B) 28 G6.t.D. 

(C) 24 Gl8'.t.5. 

(D) 30 Qe:.t.5. 

198. · Which medicine is known as "THE QUEEN OF DRUGS"? 

(A) ATROPIN· 

(B) POLYMIXIN 

(C) STREPTOMYCIN 

~ PENICILLIN 

(A) ~L.G1Jrr~Ghl 

(B) u rr6'Sl uSl.$51 Ghl 

(C) 6iuL.Q JJUGLrrOO L05lar 

(D) Qu~5lrulm 
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• 199. A man bought an old bicycle for Rs. 1,500. He spends Rs. 500 on its repair and sells it for 

. Rs. 1,800. Find the percentage of his loss. 

200. 

. . 

\,J!(f" 10% 

(B) 15% 

(C) 20% 

(D) 5% 

~@6l.Jfr ®· 1,500-ffi(§ ~® u~~UJ uSl~6l..IQiorl.Cf-~UJ 6l..lrrri.i.$1 ~~ru ®· 500-8;® U@~e;~61T .m.9;@.$l!!Jrri'r. 

QPL.cf-6l516i> ~6l..IIT ~JI>~ t.Dl~6l..l~l.Cf-Q)lU ®· 1.800-.9;@) 6l51ri>.$1rorrfr (jjf~Q} ~Q.Jfr ~~L14t.b J!ibi!;L 

s:~6l51.$lp>~~~.9; e;rrQior . . 

(A) 10% 

(B) 15% 

(C) . 20% 

(D) 5% 

Find the LCM of a
3b4

, ab5 and a
2b7 

(A) a7b3 

\$f" aab1 

(C) ·. a2bs 

(D) abs 

a 3b4 b5 2b7 . -~ Q . , a , a EillT w. urr.LD. a;rr~e;. 

(A) a 7b3 

(B) a 3b7 

(C) a 2b5 

(D) abs 
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1. This Booklet has a cover (this page) which should not be opened till the invigilator gives signal to open 
it at the commencement of the examination. As soon as the signal is received you should tear the right 
side of the booklet cover carefully to open the booklet. Then proceed to answer the questions. 

2. This Question Booklet contains 200 questions. Prior to attempting to answer the candidates are 
requested to check whether all the questions are there in series without any omission and 
ensure there are no blank pages in the question booklet. In case any defect in the Question 
Paper is noticed it shall be reported to the Invigilator within first 10 minutes. 

3. Answer all questions. All questions carry equal marks. 

4. You must write your Register Number in the space provided on the top right side of this page. Do not 
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Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not encode 
properly or fail to encode the above information, action will be taken as per commission's notification. 

7. Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correc;t 
response and mark in your Answer Sheet. In case, you feel that there are more than one correct 
response, mark the response which you consider the best. In any case, choose ONLY ONE response for 
each question. Your total marks will depend on the number of correct responses marked by you in the 
Answer Sheet. 

8. In the Answer Sheet there are four circles @, @ , © and@· against each question. To answer the 
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for 
each question. Select one response for each question in the Question Booklet and mark in the Answer 
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If 
for any item,@is the correct answer, you have to mark as follows: · 

@•·@@ 

9. You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take 
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination. 
After the examination is concluded, you must hand over your Answer Sheet to the 
Invigilator. You are allowed to take the Question Booklet with you only after the 
Examination is over. 

10. The sheet before the last page of the Question Booklet can be used for Rough Work. 

11. Failure to comply with any of the above instructions will render you liable to such action or penalty as 
the Commission may decide at their discretion. 

12. For Question No. 101 to 200 in all matters and in cases of doubt, the English Yersion is final. 

13. Do not tick-mark or mark the answers in the Question booklet. 
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